s

POMA Storm Panels and mounting channels nest together for neal conven-

ient slorage. Particular care should be taken when handling and storing to
\_/W prevenl damage lo the prolective coating.
When storing, make sure panels are clean and dry. If possible, store vertical-
Storm Panel ly and securely fasten to wall. Do not wrap panels in plastic or other moisture
trapping matesials.
A superficial moisture discoloration does not effect your storm panef's
strength or integrity. Prolonged exposure to moisture while slored (rain, water
I I leak, air-conditioner evaporalion, efc.) must be avoided.
H-Header F- Track 0.63 Alumimum Panel Symn:
Use this table to determine:
If the height of your opening Is: Panel Height
@ 40" 10 50° 5
Wing Nut Concrete Screw P -
- 65 to 80" &
(E— iz oor e
Anchor Set Tool Wood Lag Note: For panel height greater than 104" special order heights are available. “ﬁ3
Stor Panel Worksheet: '
[:[]] h Number of Panels Coverage Number of Panels Coverage &
1 15 1 135° it - "RM A"[l
Tap-In Anchor Sidewalk Bolt 2 T 12 r HE
3 3¢ 13 159" §
4 51" 14 e o
5 63" 15 183" - gl
[h 6 75° 16 195° i
7 8T 17 27 ! Et -
Trac Bolt Keyhole Washer 8 99 18 aly -1
9 nr 19 21 tRE
10 123 2 PYes 1
sl O e Storm Panel Order Form:
" : < s Opening Size X Number of Panels
Brass Wood Bushings Combination Drill Bit Width X Height Panel Height yren wn [ een | ssn T104H
Storm panels and their associated components
are high strength sheef metal products. As such,
sharp edges are present. Wear gloves and gog-
gles when handling Storm Panel Components.

Order H-Header and F-Track lengths according fo number of paneis needed per opening.

Caution:

‘ p AMF BUILDING PRODUCTS Miami Dade
Plan escape routes. Panels installed over an
opening will prevent it from being used as an 9040 Belvedere Rgeaﬂ_;gg??g’galm Beach, FL 33411 Approved

escape exit. www.wbuildingproducts.com NOA# 12-0809.04



Toals Required:

The tools required for proper installation of your "POMA Storm Panel System” are: Pencil, Tape Measure, Hammer Drill and/or Electric Drill,
4' Level, Hammer*, Anchor Set Tool*, Slot Headed Screw Driver, Turkey Baster*, 1/4" Steel Drill Bit, 1/2" Combination Masonry Drill Bit, 3/8"
Steel Drill Bit*, 5/16" Nut Driver, Electrical Extension Cord, Permanent Marker (Black or Red), Hacksaw, Gloves, and Safety Goggles.

* Denotes required items if Direct Mount is used or if Tracks are to be removabie.

NOTE: POMA Storm Panels may be installed either vertically or horizontally. These installation instructions will work for either method by simply
changing the centerline starting point.

Disclaimer: This Storm Panel complies with many municipal codes and regulations, but may not comply with all requirements. Purchaser must determine that this
product and its installation comply with all codes and regufations for storm panels at the place of installation. Manufacturer disclaims any responsibility for determin-
ing compliance with codes and/or regulations applicable to the purchaser and makes no representation or warranties regarding suitability in this regard.

1. Dril 1/4” holes in the H- L S — 8.  Line up the center mark on the F-Track and center mark of the open-
Header and F-Track notto 3 Maximum | ing. Make sure the bottom of the F-Track runs level with the mark at
exceed 6" on center of the H- / the bottom of the panel, (see Figure 3).

Header (Figure 1) and F- :
Track (Figure 2). Figure 1 9. Mark the location of each 3/16” hole. Remove the F-Track and drill
3/16" diameter holes.

2. Locate and mark the center of
the H-Header and F-Track. 10. Insert the Concrete Screws through the 1/4™ holes in the F-Track and

& i i ; fasten the track to the wall.

. Locate and mark the center of
the opening in which you are 3 Maximum - rom

. . 11. Insert the F-Track bolts into the track channel so the bolts are every 6"
going to install the H-Header  Minimum
and F-Track and mark (using / . on center.
pencil) a vertical line atthe top - S -

and bottom of the opening 12 Insert the storm panel starling at the left side of the opening making
approximately 3.5" long sure each panel overiaps the next panel and is vertically straight. Make
(Figure 3). sure the F-Track bolls are threaded through every keyhole at the bot-

tom of the panels.

4. Match the center mark on the

H-Header to the vertical line ) 13. Tighten down all the wingnuts on each bolt.
above the opening, ensuring ~ PencilLine~|  [35-

the header is level. The top of ‘ PANEL TO
the header should line up with . ANGLE DETAIL
the top of the 3.5 vertical line. . [—¥—— _ Tenson
(See Figure 3). i T e
- Figure 3 :
Existing * -
5. Mark the location of each 1/4" S S j S—
hole in the header on the wall. ¥ y
Remove the H-Header and | ¥
using a 3/16" masonry drill bit,
drill the holes approximately 35"| |- PencilLine et Yo ‘
13/16" deep. I
8.  Using a 5/16" head nut driver and utilizing a 1 3/4" tapcon, screw the 3 |
H-Header securely to the wall being careful not to strip out the Concrete Screw. “""'“i-’ i
Structure [~ :
7. Using (1) hurricane panel for the appropriate opening, insert the panel {5 x
into the header and push the panel all the way fo the top. Hold the e o Mot ok

panel in place and make a mark at the botiom of the panel.
WALL MOUNT SECTION

Storm Panel Altemate Mounting Anchers:

Anchor Schedule - (Minimum 3" Edge Distance)

Existing Fastener
Structure AnchorType Spacing
T o—
.
Wood 1/4" s.5. Lag Screw wi 1-34" Min.
Thread Embedment Shear Paraliel to Wood Grain

Anchor Schedule - (Minimum 3" Edge Distance)

Existing Fastener
Simchay Anchor Type Spacing
1/4p Zamac Nailin w/ 1-3/8" Min. Embedment 6"
(Min. 3,000 P.S.1. Concrete)
1/4°3 POMA Male *Panelmate” wi 1-3/4" Min. 6"
Embedment & 1/4 - 20 Machine Screw with Nut
Soncreie {Min. 3,323 PS.I. Concrete)
po
1/4" Concrete Screw w/ 1 1/8" Embedment
1/4°p Calk-in w/ 7/8" Embedment & 6"

1/4 -20 Stainless Steel Machine Screw
(Min. 3,870 PS.1. Concrele)

1/4°0 Rawl Zamac Naikin w! e
1-1/8" Min. Embedment

Hollow
Conces g &

1/4"a POMA Male "Panelmate” w/ 1-1/4" Min.
Embedment & 1/4 - 20 Machine Screw with Nut

114 Calk-in wi 778" Embedment & &
1/4 -20 Stainless Steel Machine Screw

Additional Information:

For floor mount opening, see approved engineering sheets at point
of purchase.



